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I BEEDE
1 RBEE
TEEE 3,315,556 3,300,408 15,148
RBEESE 3,315,556 3,300,408 15,148
2 EEEE
HARBAE
THTESE 1,300,900 4.300,900 A 3,000,000
F % 104,869,098 101,832,457 3,036,641
TEEE 0 0 0
HABESE 106,169,998 106,133,357 36,641
BEE&EESET 106,169,998 106,133,357 36,641
BERE 109,485,554 109,433,765 51,789
I 8EOE
1 RBEaRE
JEYUE 3,240 3,240 0
BESE 3,240 3,240 0
Il IERKBEAEEDER
1 {EEIERKELE
Hit& 102,169,998 102,133,357 36,641
IEEIERE ESET 102,169,998 102,133,357 36,641
OBEAKRMEADITLHEE) (102,169,998) (102,133,357) (36,641)
2 —ARIERREAE 7,312,316 7,297,168 15,148
OBEKREADFITLHEE) (4,000,000) (4,000,000) (0)
IERRBAESET 109,482,314| 109,430,525 51,789
BERVIEKEESET 109,485554| 109,433,765 51,789




